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N. B. : (1) Question No. 1 is compulsory.
(2) Solve any three out of the remaining five questions.
(3) Assume suitable data if required and state it clearly. -
(4) Use of Steam Table and Mollier diagram is permitted.

1 Attempt any four out of the following
@
(b)
(©
(d)
(e)

State and prove Carnot Theorem

developed by the turbm 1 12000 kW 'I’i}e enfhali}ms of gases at the lnlet? and outlet
are 1260 kJ/kg and 400 J/k respectwel and the vek)clty of gases at the inlet and

1sO45m3/kg ok
Show that the i ‘t*

3.

4. @ In : \ermal. powe: t Qpexatmg on an ideal Rankine cycle, superheated steam
: © . produced.a : OQOC is fed to a turbine where it expands to the condenser
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T when the ambient temperature is To.
An oil engine takes in air at 1.01 bar, 20°C_
bar. The compression ratio is 18. Calculatedihe a
on the dual combustion cycle. Assume that ﬂfe he a
to the heat added at constant pressure

25 bar. For this purpose the mduth
bar and 15°C, and the FAD as 0 25 1

(1) the bore and strqgc .
(i)  the volumetri¢'ef] W\ctén
(iii)  the indicated power;
(iv) al.
Take the index of com
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